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The figures in the mdrgiri indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. (a) Choose the correct answer of the

following : : 1x5=5
TS RANRIRT Ay el b Bfaned &
(i) The enzyme present in saliva is
AATS 4 %«;ﬂm Lyl
(1) pepsin
coioifon
(2) ptyalin
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(ii) Which one of the following is not

(3) lipase a neurotransmitter ?
P& OO (PIFCO! e G0N 7= 2
) Incias (1) Serotonin
<0 A
(TR (2) Dopamine
A
(i) The pigment present in normal (3) Epinephrine
human urine is GGG
P31l TR T I G T (4) Proline
(1) bilirubin A
ﬁ]’%—]@ﬁ?{ (iv) Ornithine cyclé takes place in
SRR by F0©
(2) biliverdin (1) liver
Eiaalen S
(3) taurine @) kdney
e
e (3) heart
) yrobilin ERENY
s (4) stomgch
Ao
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(v) The function of enterokinase is (i) is the first
AR FIZTE 5 T product of tricarboxylic acid
(1) digestion of fat gl
eI S R | iy
e SLACH! Teod T |

(2) digestion of maltose
(i) Alcoholic fermentation is an

=5 el @
example of ——— |
B) activation of trypsinoee” a1 e W 5
fBoifom o A TwEEe |

ulin (iv) Myoglobin is found in
Bicells,

ARy —— IO (i

i N oo S
| Wé‘r‘igﬁq 41 ¢ il (v) Junction between tWO neurons is
/ () Endocrine cells of testis are & known ag gz
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2. (@) Write short noteson: 2%2

5 (Bt forait .

(i) Buffer
AT

() Resting potential
@R e

the following

& Di§tinglﬁsh between 2x3=6

Pairs .
TS fi cyrared WO ey e
f) Blood and Lymph

(o5 i@ A

in
i) Oxytocin and Vasopr esst

S for o <

) d
pirationt an

(iii bic r€s ]
) Aero espiration

Anaerobi€ T
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3. Answer any four of the following : 5x4=20
o] Rclel bifbrq Tes ford ¢

(a) Draw a label diagram of the
histological structure of adrenal gland.

Y 2R SrereRid 1R 9Bl Bz By
il |

(b) State the functions of bile.
Prewr IFTR SE

() Write the structur® and functions
of RBC of mammals-
AT 2T (eTifRs TP 915 i
I |

(d) Discuss the role of small intestine in
digestion.

15w elfeFre pa g o o |

(e) Write briefly on the 2bSOrPtion of
carbohydrate.

PR SR A B forainy
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() What is synapse ? Write how the
transmission of nerve impulse occurs
across synapse.

- DR R 7 I P (T BRI ST
- 2ifRe =, ol | |

Answer any Jour of the following : 10x4=40
O Rt e S i

(@ What do you mean by excretion ?
Describe the structure of a nephron.
Write the mechanism of urine formation
in mMmammal. 2+4+4=10

(57 Jfore 25 I 2 BT (PR 10 39091 41|
SR e 30 4 = ARFRICH! i |

() “Proteins are the polymers of amino
acids,” Jgustify the statement. State
different classes of proteins on the
basis of their chemical composition with
examples. 2+6+2=10

“ i fSet T T P <3 I 3
Wa@%wumw%@ e BT

%qum @ Rore 311 -

(c) Whatare the different hormones of islets
of Langerhans ? Describe the functions

of these hormones. 2+8=10
PR AP TTRR R 2 gy
A SRR |

(d) "What is i‘éspiration? Mention different
respiratory pigments found in anjmga
kingdom. Describe the mechanjsm of
transport of CO, inman. 24946219

o B 2 2 @oree TR RIS e wyifig
T A o 7 TR (s CO, R

aiferat 3¢ 1|
(e) () Write short potes on : Ox3=6
B (Orm foret &
(1) Median
TGS
(2) Mode
I&F
(3) Harmonic 2"
2R g
3 (Sem-6) ZOO/G 9 Contd.

L I



ct has (f) Whatis digestion ? Describe the process

a ulation of inse e
(i) A small pop of digestion of protein in man.

the following age distribution : 2+8=10
Lﬂm%%gmmﬁmwmﬁwﬁﬁ {5+ & ?WﬁwwmﬁﬁWI

T Aeser T AT a’el 8
(g What are the different hormones of

Sl No, Age group Nos. of individual adenohypophysis ? State their functions,
@ﬁ[ﬂi‘qg c{ﬂ'ﬂ 4+6=10
TR Ca &2
i - Lﬂt@/—m[’ﬂ?{f‘;’ﬁﬁfﬁﬁ TTTRIS ? G2@Re
e 0 days IR [ |
0 . i \
5 WS (bt 77 (h) Describe the ‘r3'101081f3'?’_11 significance of
© above 10 days carbohydrates and lipids. 5+5=10
10 fivet cab) . \ RS O G TR eteofefaef
ays
20 fiers bt
5 abOVe 30 dayS 55 i
30 et b \
S. 28
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ta throug
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